FH ¥ am SC_EIE
ERCE « iR @A
ERLH @ 2021 (4F13) 4£4 H 19 H

pl=========================—=—=—=————=—=—=—=————=—=======
ik
&3 NOEEOLZENMEMBRIMEENTTDK-SEEHZR
E 5 AE & K 546 o 61 E D=0.2, p-value=0.925
RE AR & B4 O 61 FE D=0.133, p-value=0.999
TR AR & BRI A o [R5 D =0.2, p-value=0.938
1E
£33 NOEEOLEEMMEMBRMEENSTDK-SEEHZR
E 5 AE & K 546 o [61F D=0.2, p-value=0.925
RIE 5 AE & B4 O 61 F D=0.2, p-value=0.925
KA & BRI oA o [A] 4 D =0.266, p-value = 0.660
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aichi_p6j <- ¢ (4.5,9.6,12.5,13.2,12.0,10.7,9.0,7.5,6.1,4.8,3.9,2.9,2.0,0.9,0.5)

1E
aichi_p6j <- ¢ (3.0,6.8,9.6,11.1,11.3,10.8,9.7,8.2,6.9,5.9,4.8,3.9,3.3,2.6,2.1)

N B A R N N o e
> #/]\ 6 [EFE

> zenkoku_p6j<-c(4.8,9.7,11.9,12.3,11.4,10.2,8.7,7.2,6.0,4.9,4.0,3.2,2.5,1.7,1.2)

> akita_p6j<-c(10.8,16.8,15.2,14.1,11.0,8.8,6.9,4.7,4.0,2.6,2.1,1.4,0.8,0.6,0.2)

> aichi_p6j<-c(3.0,6.8,9.6,11.1,11.3,10.8,9.7,8.2,6.9,5.9,4.8,3.9,3.3,2.6,2.1)

> ks.test (zenkoku_p6j, akita_p6j) #42=[E 531 & FKH 534 D [F] %14

Two-sample Kolmogorov-Smirnov test



data: zenkoku_p6j and akita_p6j
D = 0.2, p-value = 0.9251
alternative hypothesis: two-sided

> ks.test (zenkoku_p6j, aichi_p6j) #2=[E 531 & B HI 534 D[R 1%
Two-sample Kolmogorov-Smirnov test
data: zenkoku_p6j and aichi_p6j

D = 0.2, p-value = 0.9251

alternative hypothesis: two-sided

> ks.test (akita_p6j, aichi_p6j) #FKH 1 & B HI 046 O [R5k
Two-sample Kolmogorov-Smirnov test

data: akita_p6j and aichi_p6j

D = 0.26667, p-value = 0.6604

alternative hypothesis: two-sided



